1. ©& a"3t Zo] /B =60° /C = 45° ¢ AABC 9|4 AHLBC °o]1,
AB =8cm ¥ ufj, AC 2] Zo]=?

@ 4cem @ 4+v3cm ® 4+V6em
® 8cm ® 8+6cm



2.  sin0° xtan0° — cos0° 9] ZF2 A, sin 90° x cos 90° + tan 0° 9] &t

B2t & of, B- A 9] gk2?

D -2 2 -1 ® 0 @ 1 B 2



3.

e F 8 gL A

oA
rlo

@ sinA = cos(90° - A)
@ 1-2sin?A=2cos?A-1

® sin(A + B) = sinA +sin B
1

tan A =
® tan +tanA sin A cos A

® (sinA 4 cosA)? + (sinA — cosA)? =

A2 (& A Be

2



= V3x+4

@y

O y=3x+4V3
® y=3V3x+4

V3x+443

@ vy

V3x+6V3+4

@y



5. e E e

oA
rlo

g Zekel (T 0°< A <90°)

@ A grol AA ™ sinA 9] gk Ak,
O A gro] AXH cos A 2] Fh-2 Zopzitt.
© A #ol AAH tan A ¢ Fke AXT
@ sinA o] &2 0, HHE2 1 o],
©@ tanA o] &2 0, HHGE2 1 ofth
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6.

sin(2x + 30°) = cos(3y — 45°) & o, 4x —y 9]
0° < x<30° 15° <y <45°)

@ o° @) 3" 3 18° @ 30°



7.

TR A7 e] BE R Foj7] T

Lx+ 1y ©) 271 Fatolat,

2tz

sin

(¢{0)]

tan

14°

0.2419

0.9703

0.2493

15°

0.2588

0.9659

0.2679

16°

0.2756

0.9613

0.2867

17°

0.2924

0.9563

0.3057

18°

0.3090

0.9511

0.3249

19°

0.3256

0.9455

0.3443

20°

0.3420

0.9397

0.3640

21°

0.3584

0.9336

0.3839

s

-

Z5t= £x ©F 2y o] 5t

sin x = 0.2588

tany = 0.3640
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10. \/(cosA—sinA)2 + \/(sinA—|—cosA)2 = V3 <4 o, tanA 2] S
Fatofat. (s 45° < A < 90°)
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